Level 1 Maths Place Value Exam Questions

Non-calculator Questions
Edexcel

1.

John writes a large cheque to be used for publicity.

John says

we have raised ninety seven thousand four hundred and three pounds for charity.

Write this number on the cheque for John.

Cheque

DATE:

NLY

PAY:

ACCOUNT PAYEE

FOR AND ON BEHALF OF

000 & 2L ¢? 85 86 851L5EE3
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NCFE

John wants his menu to offer healthy food.

He reads that six hundred and seventeen thousand people went to hospital last
year with illnesses caused by a poor diet.

What is six hundred and seventeen thousand in numbers?
[1 mark]

Your answer:

City & Guilds

3.

Write two hundred and forty-six thousand eight hundred and five in figures

(1 mark)
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Highfield
4,

Write these numbers in order from smallest to largest.
958,514 9,851 99,951 625,854 57,095

Write the answer in the box below. (1 mark)

Order of numbers:

SMALLEST

LARGEST

5.

Write the number 57,095 in words.

Write the answer in the box below. (1 mark)
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AQA

Write in digits thirty two thousand
[1 mark]

Answer

Write in words 10324
[1 mark]

Calculator Questions
NCFE

1.

In a recent report, it was estimated that 750 000 people keep hens.

Write 750000 in words.
[1 mark]

Your answer:
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City & Guilds
2.

Write eight hundred and seven thousand, two hundred and five in figures.

(1 mark)

Which one of the following lists is in decreasing order from the largest to the smallest?

(tick one box)
252,080 252,300 250,900
252,080 250,900 252,300

252,300 252,080 250,900

o o w »r

252,300 250,900 252,080
(1 mark)

AQA

Write in digits  one hundred and twenty four thousand six hundred and fifty
[1 mark]

Answer
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Circle  thirty two thousand and eighty nine  written in digits.

[1 mark]
3289 30289 32089 320089
Write these numbers in order, starting with the smallest.
[2 marks]
-8 3 -5 -1 2 0 —2
Answer




